
Pos. a

Pos. b

Pos. c

Item No. Scratching Post Colour Height 

01-44930 Emil coffee brown 96 cm

Pos. No. Description Measurement Quantity Item No.

Pos. 1 Bottom plate 680 × 570 mm
26.75 × 22.25 in. 1 44930-10

Pos. 2 Cave ø 330 × 400 mm
12.75 × 15.5 in. 1 44930-11

Pos. 3 Lying plate, middle ø 570 mm
22.25 in. 1 44930-12

Pos. 4 Lying plate, round ø 500 × 380 mm
19.5 × 14.9 in. 1 44930-13

Pos. 5 Footstep, small, with paw ø 190 mm
7.25 in. 4 44930-14

Pos. 6 Bed with high rim ø 500 × 380 mm
19.5 × 14.75 in. 1 44930-40

Pos. 7 Cushion, oval 470 × 370 mm
18.5 × 14.9 in. 1 44930-41

Pos. 8 Cushion, round ø 310 mm
12 in. 1 44930-42

Pos. 9 Post with plush and spacer bolt ø 90 × 130 mm
3.5 × 5 in. 2 44930-30

Pos. 10 Post with plush and spacer bolt ø 90 × 260 mm
3.5 × 10 in. 2 44930-31

Pos. 11 Post with sisal carpet ø 170 × 400 mm
6.5 × 15.5 in. 1 44930-32

Pos. 12 Post with sisal carpet and spacer bolt ø 170 × 400 mm
6.5 × 15.5 in. 1 44930-33

Pos. a Countersunk bolt M8 × 40 mm
0.314 × 1.5 in. 6

44930-60

Pos. b Countersunk bolt M8 × 35 mm
0.314 × 1.25 in. 1

Pos. c Washer 7

Pos. d Thread rod M8 × 65 mm
0.314 × 2.5 in. 1

Pos. e Thread rod M8 × 48 mm
0.314 × 1.75 in. 1

Pos. f Allen key 1

Pos. d

Pos. e

131218 TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · USA · www.trixiepet.com

Assembling Instruction & Parts List
#01-44930

U	Advice: 
	 This product should be assembled by an adult. 
	 Please assemble the tree top down!
	 Please check the screws regularly and retighten them 
	 if necessary.

4

3

2
1

a

6

7

811

12 5

55

a

a

a

b

a
c

c c
a

e

d

5

10

10

9

9

c

c
c

c


